
Name:_______________

SCH 3U - Quiz

Octet Rule

1. Fill in the following table to indicate how each of the

following atoms behaves when it follows the octet rule to

from positive or negative ions.  The first three are done as

examples.

Atom Number of

Electrons

in Valence

Shell

Loses or

Gains 

Number of

Electrons

Lost or

Gained

Resulting

Ion

15P 5 gains 3 P3-

34Se 6 gains 2 Se2-

3Li 1 loses 1 Li1+

7N 5 gains 3 N3-

9F 7 gains 1 F1-

20Ca 2 loses 2 Ca2+

55Cs 1 loses 1 Cs1+

11Na 1 loses 1 Na1+

54Xe 8 neither 0 Xe0

50Sn 4 loses/gains 4/4 Sn4+/Sn4-

1H 1 loses 1 H1+

17Cl 7 gains 1 Cl1-

16S 6 gains 2 S2-

84Po 6 gains 2 Po2-

56Ba 2 loses 2 Ba2+

13Al 3 loses 3 Al3+

51Sb 5 gains 3 Sb3-

31Ga 3 loses 3 Ga3


